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QUESTION 1

Which of the following is NOT a common misconception of the Six Sigma Methodology?
A. Six Sigma can fix anything.

B. Six Sigma is too expensive.

C. Six Sigma is concerned with metrics and ignores common sense.

D. Six Sigma aims to reduce defects in hopes of increasing profitability.

Correct Answer: D

QUESTION 2

What does DFSS stand for?
A. Deploy for Six Sigma

B. Design for Six Sigma

C. Define for Six Sigma

D. Develop for Six Sigma

Correct Answer: B

QUESTION 3

The capability provided to a customer at the right time at an appropriate price, as defined in each case by the customer.
A. Value

B. Waste

C. Analyze

D. Measure

Correct Answer: A

QUESTION 4
What are the main variations of six sigma?
A. mean, median, range and mode

B. DPPM and COPQ
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C. Pareto principle and R charts
D. Only mean and median

Correct Answer: A

QUESTION 5

Half the tolerance is equal to the distance from the target to the upper specification limit.
A. True

B. False

Correct Answer: A
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